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x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”3068” x-morph=”OSHM:HNp”
”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.0”
”strong=”5414|������ x-morph=”OSHM:HVqrmsa” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” ”strong=”c/7725|����������/��
x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”0.2.0.0” ”strong=”l/776|������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”3425|����/���������� x-morph=”OSHM:HNcfsc/Sp2mp”
x-cantillationLevel=”0.2.0” ”strong=”c/3423|�����������/��� x-morph=”OSHM:HC/Vqq2mp”
”strong=”853|��/������ x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”0.2”
strong=”834|������� a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.1.1.0”
� ”strong=”5414|������ x-morph=”OSHM:HVqp3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.1.1” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”5650|������
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”b/5676|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/3383|����������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.0”
”strong=”4217|�������� x-morph=”OSHM:HNcmsc” ”strong=”d/8121|���������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”� 16 strong=”c/6030|���������/���
b” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”3091” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
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x-cantillationLevel=”1” ”strong=”3605|����� x-morph=”OSHM:HNcmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”����/����������|strong=”6680”
x-morph=”OSHM:HVpp2ms/Sp1cp” x-cantillationLevel=”0.1.0” strong=”6213|����������
a” x-morph=”OSHM:HVqi1cp” x-cantillationLevel=”0.1” ”strong=”c/413|����/��
x-morph=”OSHM:HC/R”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”7971|���/����������� x-morph=”OSHM:HVqi2ms/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”3212|������� x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0”� 17 ”strong=”k/3605|����/��� x-morph=”OSHM:HR/Ncmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”�������������|strong=”8085”
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”4872” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.1” strong=”3651|����� c” x-morph=”OSHM:HTm” x-
cantillationLevel=”1.0” ”strong=”8085|��������� x-morph=”OSHM:HVqi1cp”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1”
”strong=”7535|���� x-morph=”OSHM:HTa” x-cantillationLevel=”0.1.0.1”
”strong=”1961|��������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1.0.0”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”430|���/��������
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0.1.0” strong=”5973|��/������
a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” strong=”5973|��� a” x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 18 ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”376” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0.1.0” strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”4784”
x-morph=”OSHM:HVhi3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��/������|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”����������|strong=”8085” x-morph=”OSHM:HVqi3ms”
”strong=”853|��� x-morph=”OSHM:HTo”��/����������|strong=”1697”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.0.0” ”strong=”l/3605|����/��
x-morph=”OSHM:HR/Ncmsa” strong=”834|������ a” x-morph=”OSHM:HTr”����/����������|strong=”6680”
x-morph=”OSHM:HVpi2ms/Sp3ms” x-cantillationLevel=”1.0” ”strong=”4191|�������
x-morph=”OSHM:HVHi3ms” x-cantillationLevel=”1” ”strong=”7535|����
x-morph=”OSHM:HTa” x-cantillationLevel=”0.0” ”strong=”2388|������
x-morph=”OSHM:HVqv2ms” ”strong=”c/553|������/�� x-morph=”OSHM:HC/Vqv2ms”
x-cantillationLevel=”0”� �2 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”3091|����������� x-morph=”OSHM:HNp”�����|strong=”1121
a” x-morph=”OSHM:HNcmsc”������|strong=”5126” x-morph=”OSHM:HNp”

strong=”4480|���� a” x-morph=”OSHM:HR”����������/���|strong=”d/7851”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.1.0.0” ”strong=”8147|���������
x-morph=”OSHM:HAcmda”�����������|strong=”376” x-morph=”OSHM:HNcmpa”
”strong=”7270|������������ x-morph=”OSHM:HVprmpa” x-cantillationLevel=”1.1.0”
strong=”2791|������� a” x-morph=”OSHM:HNcmsa” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1” ”strong=”3212|������
x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”1.0.0” ”strong=”7200|������
x-morph=”OSHM:HVqv2mp” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/776”
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x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����������|strong=”3405” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3212|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0.0.1” ”strong=”c/935|��������/��� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0.0.0” strong=”1004|����� b” x-morph=”OSHM:HNcmsc”���������|strong=”802”
x-morph=”OSHM:HNcfsa” ”strong=”2181|������� x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”0.0.0” ”strong=”c/8034|��/������/�� x-morph=”OSHM:HC/Ncmsc/Sp3fs”
”strong=”7343|������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/7901|������������/�� x-morph=”OSHM:HC/Vqw3mp”�/��������|strong=”8033”
x-morph=”OSHM:HD/Sd” x-cantillationLevel=”0”� 2 ”strong=”c/559|����������/��
x-morph=”OSHM:HC/VNw3ms” x-cantillationLevel=”1.1” ”strong=”l/4428|�������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”3405|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1” ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”376|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0.0.0”
”strong=”935|������� x-morph=”OSHM:HVqp3cp” ”strong=”2008|�������
x-morph=”OSHM:HD” ”strong=”d/3915|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.0” strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”l/2658|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/776” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� 3 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”3405|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”7343” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1” ”strong=”3318|���������� x-morph=”OSHM:HVhv2fs”
x-cantillationLevel=”0.1.0.0” ”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”
”strong=”d/935|��������/�� x-morph=”OSHM:HTd/Vqrmpa” ”strong=”413|���/�������
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1.0” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”935” x-morph=”OSHM:HVqp3cp”
strong=”l/1004|��/������/�� b” x-morph=”OSHM:HR/Ncmsc/Sp2fs” x-
cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0” ”strong=”l/2658|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”935|�������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0”� 4 ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”d/802|��������/��� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”8147”
x-morph=”OSHM:HAcmdc” ”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”c/6845|��/����������/��� x-morph=”OSHM:HC/Vqw3fs/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.1.1.0” � strong=”3651|����� a” x-morph=”OSHM:HTm”
x-cantillationLevel=”0.1.1” ”strong=”935|������� x-morph=”OSHM:HVqp3cp”
”strong=”413|��/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1.0”
”strong=”d/376|����������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1”
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”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”3045|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.0” ”strong=”m/370|������/��
x-morph=”OSHM:HR/Ti” ”strong=”1992|������� x-morph=”OSHM:HPp3mp”
x-cantillationLevel=”0”� 5 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/8179|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.0”
”strong=”l/5462|��������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.2.1”
”strong=”b/2822|���������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”c/d/376|����������/��/�� x-morph=”OSHM:HC/Td/Ncmpa”
”strong=”3318|�������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.2”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3045|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1” ”strong=”575|������
x-morph=”OSHM:HD” ”strong=”1980|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”d/376|����������/��� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1” ”strong=”7291|�������� x-morph=”OSHM:HVqv2mp”
strong=”4118|������ b” x-morph=”OSHM:HVpa” x-cantillationLevel=”0.0.0”
strong=”310|����/������� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”5381|�/�����������
x-morph=”OSHM:HVhi2mp/Sp3mp” x-cantillationLevel=”0”� 6 ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3fs” x-cantillationLevel=”1.0” ”strong=”5927|�/���������
x-morph=”OSHM:HVhp3fs/Sp3mp” ”strong=”d/1406|�/������/�� x-morph=”OSHM:HTd/Ncmsa/Sd”
x-cantillationLevel=”1” ”strong=”c/2934|��/���������/��� x-morph=”OSHM:HC/Vqw3fs/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”b/6593|����������/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”d/6086|����/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
strong=”d/6186|���������/�� a” x-morph=”OSHM:HTd/Vqsfpa” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0” strong=”5921|��� a”
x-morph=”OSHM:HR”�����/���|strong=”d/1406” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 7 ”strong=”c/d/376|����������/��/�� x-morph=”OSHM:HC/Td/Ncmpa”
x-cantillationLevel=”1.1.1” ”strong=”7291|�������� x-morph=”OSHM:HVqp3cp”
strong=”310|����/�������� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.0”
”strong=”1870|�������� x-morph=”OSHM:HNcbsc” ”strong=”d/3383|����������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.1” strong=”5921|����
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0” strong=”d/4569|�������������/���
b” x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1” ”strong=”c/d/8179|��������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” ”strong=”5462|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.2” strong=”310|�������� a” x-morph=”OSHM:HR”
x-cantillationLevel=”0.1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
x-cantillationLevel=”0.0.0” ”strong=”3318|�������� x-morph=”OSHM:HVqp3cp”
”strong=”d/7291|���������/�� x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0.0”
strong=”310|����/������� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”�
8 ”strong=”c/1992|�������/�� x-morph=”OSHM:HC/Pp3mp” x-cantillationLevel=”1.0”
”strong=”2962|������ x-morph=”OSHM:HD” ”strong=”7901|�/������������
x-morph=”OSHM:HVqi3mp/Sn” x-cantillationLevel=”1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3fs” x-cantillationLevel=”0.0.0” ”strong=”5927|��������
x-morph=”OSHM:HVqp3fs” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����/���|strong=”d/1406”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 9 ”strong=”c/559|���������/��
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x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.2.0” ”strong=”413|���
x-morph=”OSHM:HR”����������/����|strong=”d/376” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2” ”strong=”3045|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”5414”
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” strong=”c/3588|����/��
a” x-morph=”OSHM:HC/C”���������|strong=”5307” x-morph=”OSHM:HVqp3fs”
”strong=”367|����/�������� x-morph=”OSHM:HNcfsc/Sp2mp” x-cantillationLevel=”0.1.0”
strong=”5921|���/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.1”
strong=”c/3588|����/�� a” x-morph=”OSHM:HC/C” ”strong=”4127|��������
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����������|strong=”3427” x-morph=”OSHM:HVqrmpc”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0”
”strong=”m/6440|����/������/�� x-morph=”OSHM:HR/Ncbpc/Sp2mp”
x-cantillationLevel=”0”� 10 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”8085|����������� x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”1.1.1”
”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”1.1.0.1” strong=”834|������
a” x-morph=”OSHM:HTr”����������|strong=”3001” x-morph=”OSHM:HVhp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”4325” x-morph=”OSHM:HNcmpc”
”strong=”3220|��� x-morph=”OSHM:HNcmsc”������|strong=”5488” x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” ”strong=”m/6440|����/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2mp” x-cantillationLevel=”1.1” ”strong=”b/3318|����/�����/���
x-morph=”OSHM:HR/Vqc/Sp2mp” x-cantillationLevel=”1.0” ”strong=”m/4714|�����������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” strong=”6213|���������� a” x-morph=”OSHM:HVqp2mp”
x-cantillationLevel=”0.1.0.1” ”strong=”l/8147|�������/�� x-morph=”OSHM:HR/Acmdc”
”strong=”4428|�������� x-morph=”OSHM:HNcmpc” ”strong=”d/567|��������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.1.0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”b/5676|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/3383|����������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.1.0”
”strong=”l/5511|�������/�� x-morph=”OSHM:HR/Np” ”strong=”c/l/5747|�����/��/��
x-morph=”OSHM:HC/R/Np” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”2763|������������� a” x-morph=”OSHM:HVhp2mp”
x-cantillationLevel=”0.0” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”0”� 11 ”strong=”c/8085|����������/�� x-morph=”OSHM:HC/Vqw1cp”
x-cantillationLevel=”1.1.0” ”strong=”c/4549|��������/�� x-morph=”OSHM:HC/VNw3ms”
”strong=”3824|���/������� x-morph=”OSHM:HNcmsc/Sp1cp” x-cantillationLevel=”1.1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�������|strong=”6965
b” x-morph=”OSHM:HVqp3fs” ”strong=”5750|����� x-morph=”OSHM:HD”
”strong=”7307|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0.0”
”strong=”b/376|������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”m/6440|����/������/�� x-morph=”OSHM:HR/Ncbpc/Sp2mp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
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cantillationLevel=”0.2.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.2”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0” ”strong=”b/8064|����������/���
x-morph=”OSHM:HRd/Ncmpa” ”strong=”m/4605|�������/�� x-morph=”OSHM:HR/D”
x-cantillationLevel=”0.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”m/8478|�������/��
x-morph=”OSHM:HR/R” x-cantillationLevel=”0”� 12 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.1” ”strong=”7650|������������
x-morph=”OSHM:HVNv2mp”�����|strong=”4994” x-morph=”OSHM:HTe”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”b/3068|������/���� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
strong=”3588|���� a” x-morph=”OSHM:HC”�����������|strong=”6213
a” x-morph=”OSHM:HVqp1cs” strong=”5973|����/����� a” x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0” strong=”2617|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqq2mp”
”strong=”1571|���� x-morph=”OSHM:HTa”��������|strong=”859 d” x-
morph=”OSHM:HPp2mp” x-cantillationLevel=”0.1.0.0” strong=”5973|���
a” x-morph=”OSHM:HR”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”1|��/���� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1.0”
strong=”2617|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/5414|���������/�� x-morph=”OSHM:HC/Vqq2mp” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0” ”strong=”226|�����
x-morph=”OSHM:HNcbsc” ”strong=”571|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 13 ”strong=”c/2421|����������/�� x-morph=”OSHM:HC/Vhq2mp”
x-cantillationLevel=”1.1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/������|strong=”1”
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�/�������|strong=”517”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��/�����|strong=”251” x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�/�����|strong=”269”
x-morph=”OSHM:HNcfsc/Sp1cs” x-wType=”x-ketiv” 1 ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-cantillationLevel=”1.0” ”strong=”3605|���� x-
morph=”OSHM:HNcmsc”��������|strong=”834 a” x-morph=”OSHM:HTr”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
”strong=”c/5337|������������/�� x-morph=”OSHM:HC/Vhq2mp” ”strong=”853|���
x-morph=”OSHM:HTo”���/������������|strong=”5315” x-morph=”OSHM:HNcbpc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”m/4194|�������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 14 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs” ”strong=”d/376|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.1” ”strong=”5315|���/��������
x-morph=”OSHM:HNcbsc/Sp1cp” ”strong=”8478|����/�������� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.2.0” ”strong=”l/4191|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2” strong=”518|���� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0”

1+ ”strong=”269|�/�����������/���� x-morph=”OSHM:HNcfpc/Sp1cs” x-
cantillationLevel=”1.1”
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”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5046|����������
x-morph=”OSHM:HVhi2mp” x-cantillationLevel=”1.1” ”strong=”853|��� x-
morph=”OSHM:HTo”���/���������|strong=”1697” x-morph=”OSHM:HNcmsc/Sp1cp”
x-cantillationLevel=”1.0” ”strong=”2088|���� x-morph=”OSHM:HPdxms”
x-cantillationLevel=”1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.1.1” ”strong=”b/5414|���/��� x-morph=”OSHM:HR/Vqc”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”l|����/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1” strong=”c/6213|����������/��
a” x-morph=”OSHM:HC/Vqq1cp” strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0.0” strong=”2617|������ a” x-morph=”OSHM:HNcmsa”
”strong=”c/571|������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0”�
15 ”strong=”c/3381|�/���������/�� x-morph=”OSHM:HC/Vhw3fs/Sp3mp”
strong=”b/2256|������/��� a” x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.0”
”strong=”1157|������� x-morph=”OSHM:HR” ”strong=”d/2474|��������/���
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”1004|���/����� b” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0.1.0” ”strong=”b/7023|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/2346|�������/��� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”c/b/2346|�������/���/�� x-morph=”OSHM:HC/Rd/Ncfsa” x-
cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3fs” ”strong=”3427|����������
x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”0”� 16 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”d/2022|�/�����/�� x-morph=”OSHM:HTd/Ncmsa/Sd”
”strong=”3212|������� x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”1.1”
”strong=”6435|����� x-morph=”OSHM:HC”������������|strong=”6293”
x-morph=”OSHM:HVqi3mp” ”strong=”b|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”d/7291|���������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1” ”strong=”c/2247|�����������/�� x-morph=”OSHM:HC/VNq2mp”
”strong=”8033|�/������� x-morph=”OSHM:HD/Sd” x-cantillationLevel=”0.1.1.0”
”strong=”7969|���������� x-morph=”OSHM:HAcmsc” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.1” ”strong=”5704|����
x-morph=”OSHM:HR” x-cantillationLevel=”0.1.0” ”strong=”7725|������
x-morph=”OSHM:HVqa” ”strong=”d/7291|����������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”0.1” strong=”c/310|������/�� a” x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.0” ”strong=”3212|��������� x-morph=”OSHM:HVqj2mp”
”strong=”l/1870|����/�������/�� x-morph=”OSHM:HR/Ncbsc/Sp2mp”
x-cantillationLevel=”0”� 17 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.0”
”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
strong=”5355|��������� a” x-morph=”OSHM:HAampa” ”strong=”587|����������
x-morph=”OSHM:HPp1cp” x-cantillationLevel=”0.1” ”strong=”m/7621|��/�����������/��
x-morph=”OSHM:HR/Ncfsc/Sp2fs” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7650|���/�������������� x-morph=”OSHM:HVhp2fs/Sp1cp”
x-cantillationLevel=”0”� 18 ”strong=”2009|������� x-morph=”OSHM:HTm”
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x-cantillationLevel=”1.0.0” ”strong=”587|���������� x-morph=”OSHM:HPp1cp”
”strong=”935|������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.0”
”strong=”b/776|������/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1”
”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”8615 a”
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.2.1.1” ”strong=”2339|�����
x-morph=”OSHM:HNcmsc” ”strong=”d/8144|��������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0.2.1.0”
”strong=”7194|������������ x-morph=”OSHM:HVqi2fs” x-cantillationLevel=”0.2.1”
”strong=”b/2474|��������/���� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.2.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3381|���/�����������
x-morph=”OSHM:HVhp2fs/Sp1cp” ”strong=”b|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/�������|strong=”1”
x-morph=”OSHM:HNcmsc/Sp2fs” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/�������|strong=”517”
x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”0.1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��/��������|strong=”251” x-morph=”OSHM:HNcmpc/Sp2fs”
x-cantillationLevel=”0.1.1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”0.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”0.1” ”strong=”622|����������� x-morph=”OSHM:HVqi2fs”
”strong=”413|��/������� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.0”
strong=”d/1004|�/��������/�� b” x-morph=”OSHM:HTd/Ncmsa/Sd” x-
cantillationLevel=”0”� 19 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1.0.0.0” ”strong=”3605|����� x-morph=”OSHM:HNcmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”3318”
x-morph=”OSHM:HVqi3ms” strong=”m/1817|���������/�� c” x-morph=”OSHM:HR/Ncfdc”
strong=”1004|��/������ b” x-morph=”OSHM:HNcmsc/Sp2fs” � ”strong=”d/2351|�/������/��
x-morph=”OSHM:HTd/Ncmsa/Sd” x-cantillationLevel=”1.0.0” ”strong=”1818|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms” strong=”b/7218|��/������/�� a” x-
morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/587|����������/��
x-morph=”OSHM:HC/Pp1cp” strong=”5355|��������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” ”strong=”c/3605|���/��� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.2.0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1961|��������� x-morph=”OSHM:HVqi3ms” ”strong=”854|���/�����
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.2.0” strong=”b/1004|�������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.2” ”strong=”1818|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms” strong=”b/7218|���/�������/�� a”
x-morph=”OSHM:HR/Ncmsc/Sp1cp” x-cantillationLevel=”0.1” strong=”518|���
a” x-morph=”OSHM:HC”�����|strong=”3027” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.0” ”strong=”1961|��������� x-morph=”OSHM:HVqi3fs”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 20 strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”������������|strong=”5046” x-morph=”OSHM:HVhi2fs”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”���/���������|strong=”1697”
x-morph=”OSHM:HNcmsc/Sp1cp” ”strong=”2088|���� x-morph=”OSHM:HPdxms”
x-cantillationLevel=”1” ”strong=”c/1961|���������/�� x-morph=”OSHM:HC/Vqq1cp”
strong=”5355|��������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0.1”
”strong=”m/7621|��/�����������/�� x-morph=”OSHM:HR/Ncfsc/Sp2fs”
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x-cantillationLevel=”0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7650|���/�������������� x-morph=”OSHM:HVhp2fs/Sp1cp”
x-cantillationLevel=”0”� 21 ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.1.0” ”strong=”k/1697|����/�������/��� x-morph=”OSHM:HR/Ncmpc/Sp2mp”
strong=”3651|���� c” x-morph=”OSHM:HD”������|strong=”1931” x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1.1” ”strong=”c/7971|�/������������/��� x-morph=”OSHM:HC/Vpw3fs/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1” ”strong=”c/7194|����������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”8615
a” x-morph=”OSHM:HNcfsc” ”strong=”d/8144|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”b/2474|��������/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0”� 22 ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.2.0” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”d/2022|�/�����/�� x-morph=”OSHM:HTd/Ncmsa/Sd” x-cantillationLevel=”1.2”
”strong=”c/3427|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0” ”strong=”7969|����������
x-morph=”OSHM:HAcmsc” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”7725”
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” ”strong=”d/7291|���������/��
x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”1” ”strong=”c/1245|�����������/��
x-morph=”OSHM:HC/Vpw3mp” ”strong=”d/7291|���������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”0.0.0” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��������/���|strong=”d/1870”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”4672|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0”� 23 ”strong=”c/7725|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.2.0.0” ”strong=”8147|������� x-morph=”OSHM:HAcmdc”
”strong=”d/376|����������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.0”
”strong=”c/3381|���������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”m/d/2022|����/��/���
x-morph=”OSHM:HR/Td/Ncmsa” x-cantillationLevel=”1.2” strong=”c/5674|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.0” ”strong=”c/935|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1” ”strong=”413|���
x-morph=”OSHM:HR”������������|strong=”3091” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������|strong=”5126”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”c/5608|�����������/��
a” x-morph=”OSHM:HC/Vpw3mp”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����������/���|strong=”d/4672” x-morph=”OSHM:HTd/Vqrfpa”
x-cantillationLevel=”0.0” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”0”� 24 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”3091”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”3588|����� a”
x-morph=”OSHM:HC”�������|strong=”5414” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”b/3027|���/�����/��� x-morph=”OSHM:HR/Ncbsc/Sp1cp” x-
cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������/���|strong=”d/776” x-morph=”OSHM:HTd/Ncbsa”
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x-cantillationLevel=”1” ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”���������|strong=”4127”
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����������|strong=”3427” x-morph=”OSHM:HVqrmpc”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0”
”strong=”m/6440|���/�������/�� x-morph=”OSHM:HR/Ncbpc/Sp1cp”
x-cantillationLevel=”0”� �3 ”strong=”c/7925|�����������/�� x-morph=”OSHM:HC/Vhw3ms”

”strong=”3091|����������� x-morph=”OSHM:HNp” ”strong=”b/1242|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.1.0” ”strong=”c/5265|���������/��

x-morph=”OSHM:HC/Vqw3mp” ”strong=”m/d/7851|����������/��/���
x-morph=”OSHM:HR/Td/Np” x-cantillationLevel=”1.1.1” ”strong=”c/935|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.0” ”strong=”5704|���
x-morph=”OSHM:HR”����������/���|strong=”d/3383” x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1.1” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1.0” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”c/3885|���������/�� a” x-morph=”OSHM:HC/Vqw3mp”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”2962|������
x-morph=”OSHM:HD” strong=”5674|���������� a” x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0”� 2 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1” strong=”m/7097|������/�� a” x-morph=”OSHM:HR/Ncbsc”
x-cantillationLevel=”1.0” ”strong=”7969|���������� x-morph=”OSHM:HAcmsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
strong=”c/5674|�����������/�� a” x-morph=”OSHM:HC/Vqw3mp” ”strong=”d/7860|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” ”strong=”b/7130|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/4264|���������/��� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� 3 ”strong=”c/6680|���������/�� x-morph=”OSHM:HC/Vpw3mp”
x-cantillationLevel=”1.3.0” ”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.3” ”strong=”k/7200|����/��������/��� x-morph=”OSHM:HR/Vqc/Sp2mp”
x-cantillationLevel=”1.2.1” ”strong=”853|���� x-morph=”OSHM:HTo” ”strong=”727|�������
x-morph=”OSHM:HNcbsc” ”strong=”1285|������� x-morph=”OSHM:HNcfsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”430|����/��������
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.2” ”strong=”c/d/3548|�����������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”1.1.0” ”strong=”d/3881|���������/��
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.1” ”strong=”5375|����������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.0” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1” strong=”c/859|�������/��
d” x-morph=”OSHM:HC/Pp2mp” x-cantillationLevel=”0.1.1” ”strong=”5265|���������
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0.1.0” ”strong=”m/4725|����/���������/��
x-morph=”OSHM:HR/Ncmsc/Sp2mp” x-cantillationLevel=”0.1” ”strong=”c/1980|�����������/��
x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”0.0” strong=”310|�/��������
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 4 ”strong=”389|�����
x-morph=”OSHM:HTa” x-cantillationLevel=”1.1.1.0” � ”strong=”7350|�������
x-morph=”OSHM:HAamsa” ”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.1.1” ”strong=”996|����/�������� x-morph=”OSHM:HR/Sp2mp”
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morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”6942|��������������
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x-cantillationLevel=”0.0” ”strong=”6381|����������� x-morph=”OSHM:HVNrfpa”
x-cantillationLevel=”0”� 6 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3091|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”����������/���|strong=”d/3548”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2” ”strong=”5375|������� x-morph=”OSHM:HVqv2mp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”727”
x-morph=”OSHM:HNcbsc” ”strong=”d/1285|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1” strong=”c/5674|��������/�� a” x-morph=”OSHM:HC/Vqv2mp”
x-cantillationLevel=”1.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/5375|����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”727” x-morph=”OSHM:HNcbsc”
”strong=”d/1285|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1”
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2+ ”strong=”c/996|�/�������/���/���/� x-morph=”OSHM:HC/R/Sp3ms” x-
cantillationLevel=”1.1”
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x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”3091”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1.1.1” strong=”2490|������ c” x-morph=”OSHM:HVhi1cs”
x-cantillationLevel=”1.1.0” ”strong=”1431|���/�������� x-morph=”OSHM:HVpc/Sp2ms”
x-cantillationLevel=”1.1” strong=”b/5869|�������/��� a” x-morph=”OSHM:HR/Ncbdc”
x-cantillationLevel=”1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”834|������� a”
x-morph=”OSHM:HTr” x-cantillationLevel=”0.1.0” ”strong=”3045|�/���������
x-morph=”OSHM:HVqi3mp/Sn” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.0.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”1961|��������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0.0” strong=”5973|��� a” x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”1961|��������
x-morph=”OSHM:HVqi1cs” strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� 8 strong=”c/859|�������/�� a” x-morph=”OSHM:HC/Pp2ms”
x-cantillationLevel=”1.1.1” ”strong=”6680|���������� x-morph=”OSHM:HVpi2ms”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����������/���|strong=”d/3548”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1” ”strong=”5375|���������
x-morph=”OSHM:HVqrmpc” ”strong=”727|������� x-morph=”OSHM:HNcbsc”��������/���|strong=”d/1285”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”k/935|����/����/���
x-morph=”OSHM:HR/Vqc/Sp2mp” x-cantillationLevel=”0.1.1” ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”7097 a” x-morph=”OSHM:HNcbsc”
x-cantillationLevel=”0.1.0” ”strong=”4325|���� x-morph=”OSHM:HNcmpc”
”strong=”d/3383|����������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.1”
”strong=”b/3383|����������/��� x-morph=”OSHM:HRd/Np” x-cantillationLevel=”0.0”
”strong=”5975|����������� x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0”�
� 9 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”3091|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”5066|�������� x-morph=”OSHM:HVqv2mp”
”strong=”2008|������� x-morph=”OSHM:HD” x-cantillationLevel=”0.2”
”strong=”c/8085|���������/�� x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”0.1”
”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”1697” x-
morph=”OSHM:HNcmpc” x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”0”� 10 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3091|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”b/2063|�����/��� x-morph=”OSHM:HR/Pdxfs” x-cantillationLevel=”1.1.0”
”strong=”3045|�/���������� x-morph=”OSHM:HVqi2mp/Sn” x-cantillationLevel=”1.1”
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morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” ”strong=”b/7130|����/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp2mp” x-cantillationLevel=”1” ”strong=”c/3423|��������/��
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x-morph=”OSHM:HC/Vha” ”strong=”3423|��������� x-morph=”OSHM:HVhi3ms”
”strong=”m/6440|���/������/��� x-morph=”OSHM:HR/Ncbpc/Sp2mp”
x-cantillationLevel=”0.1.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”�����������/���|strong=”d/3669
a” x-morph=”OSHM:HTd/Ngmsa” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/2850”
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������/���|strong=”d/2340” x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0.1.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������/���|strong=”d/6522”
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������������/���|strong=”d/1622” x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0.1” ”strong=”c/d/567|��������/��/�� x-morph=”OSHM:HC/Td/Ngmsa”
x-cantillationLevel=”0.0” ”strong=”c/d/2983|���������/��/�� x-morph=”OSHM:HC/Td/Ngmsa”
x-cantillationLevel=”0”� 11 ”strong=”2009|������� x-morph=”OSHM:HTm”
x-cantillationLevel=”1.1.0” ”strong=”727|������� x-morph=”OSHM:HNcbsc”
”strong=”d/1285|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”136|������� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
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x-cantillationLevel=”0.0” ”strong=”b/3383|����������/��� x-morph=”OSHM:HRd/Np”
x-cantillationLevel=”0”� 12 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.1.1” ”strong=”3947|������ x-morph=”OSHM:HVqv2mp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.1.0”
”strong=”8147|������� x-morph=”OSHM:HAcmdc” ”strong=”6240|�������
x-morph=”OSHM:HAcmsa” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”m/7626|����������/�� x-morph=”OSHM:HR/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”3478|����������� x-morph=”OSHM:HNp”
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x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.0.1” ”strong=”5375|���������
x-morph=”OSHM:HVqrmpc” ”strong=”727|������� x-morph=”OSHM:HNcbsc”
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x-cantillationLevel=”0.0” ”strong=”5067|���� x-morph=”OSHM:HNcmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0”�
14 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”
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a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������/���|strong=”d/3383” x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1” ”strong=”c/d/3548|����������/��/�� x-morph=”OSHM:HC/Td/Ncmpa”
x-cantillationLevel=”0.0.1” ”strong=”5375|���������� x-morph=”OSHM:HVqrmpc”
x-cantillationLevel=”0.0.0” ”strong=”d/727|�������/�� x-morph=”OSHM:HTd/Ncbsa”
”strong=”d/1285|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” strong=”d/5971|����/��
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 15 ”strong=”c/k/935|�����/��/��
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x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.2” ”strong=”c/7272|��������/��
x-morph=”OSHM:HC/Ncfdc” ”strong=”d/3548|�����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1.0” ”strong=”5375|��������� x-morph=”OSHM:HVqrmpc”
”strong=”d/727|�������/��� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1”
”strong=”2881|����������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.0”
strong=”b/7097|������/��� a” x-morph=”OSHM:HR/Ncbsc” ”strong=”d/4325|�������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” ”strong=”c/d/3383|����������/��/��
x-morph=”OSHM:HC/Td/Np” x-cantillationLevel=”0.1.1” ”strong=”4390|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”�/�����������|strong=”1415”
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strong=”3588|����� b” x-morph=”OSHM:HC” strong=”518|��� b” x-morph=”OSHM:HC”��������|strong=”5892
b” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.2.0” ”strong=”l/3427|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.2” ”strong=”c/4054|����/�����������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”l/4735|����/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”c/l/7075|�/���������/��/��
x-morph=”OSHM:HC/R/Ncmsc/Sp3mp” x-cantillationLevel=”0”� 5 strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”6680|������� x-morph=”OSHM:HVpp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”4872” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”3651|����� c” x-morph=”OSHM:HTm”
strong=”6213|������� a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”c/2505|�����������/���
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/776” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� � 6 ”strong=”c/5066|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”����������|strong=”3063”
x-morph=”OSHM:HNp” ”strong=”413|��� x-morph=”OSHM:HR”�������������|strong=”3091”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”b/1537|����������/���
x-morph=”OSHM:HRd/Np” x-cantillationLevel=”1.2” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”3612|������� x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������|strong=”3312”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”d/7074|����������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”3045|���������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0.0.1.1” ”strong=”853|���� x-morph=”OSHM:HTo”�������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmsa” strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”1696”
x-morph=”OSHM:HVpp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”0.0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”376|����� x-morph=”OSHM:HNcmsc”���������/���|strong=”d/430”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0.1” strong=”5921|����
a” x-morph=”OSHM:HR” ”strong=”182|�/�������� x-morph=”OSHM:HNcfpc/Sp1cs”
x-cantillationLevel=”0.0.0” strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”
”strong=”182|��/��������� x-morph=”OSHM:HNcfpc/Sp2ms” x-cantillationLevel=”0.0”
”+strong=”b/6947|�������/��� x-morph=”OSHM:HR/Np” ”strong=”6947|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 7 strong=”1121|���� a”
x-morph=”OSHM:HNcmsc”�������������|strong=”705” x-morph=”OSHM:HAcbpa”
”strong=”8141|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.1.0”
”strong=”595|�������� x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.0.1”
”strong=”b/7971|�������/���� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0.0.0”
”strong=”4872|������� x-morph=”OSHM:HNp” ”strong=”5650|������
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”1.0.0”
”+strong=”m/6947|��������/�� x-morph=”OSHM:HR/Np” ”strong=”6947|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l/7270|�������/��
x-morph=”OSHM:HR/Vpc” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”c/7725|�������/��
x-morph=”OSHM:HC/Vhw1cs” ”strong=”853|���/��� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”1697|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
x-cantillationLevel=”0.0” strong=”5973|��� a” x-morph=”OSHM:HR”�/��������|strong=”3824”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 8 ”strong=”c/251|��/����/��
x-morph=”OSHM:HC/Ncmpc/Sp1cs” x-cantillationLevel=”1.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5927|������ x-morph=”OSHM:HVqp3cp”
strong=”5973|�/������ a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1”
”strong=”4529|��������� x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3820 a” x-morph=”OSHM:HNcmsc”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/595|��������/�� x-morph=”OSHM:HC/Pp1cs” ”strong=”4390|����������
x-morph=”OSHM:HVpp1cs” x-cantillationLevel=”0.1” strong=”310|��������
a” x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0”� 9 ”strong=”c/7650|�����������/�� x-morph=”OSHM:HC/VNw3ms”
”strong=”4872|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1”
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.2.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.2” strong=”518|��� a”
x-morph=”OSHM:HC”�����|strong=”3808” x-morph=”OSHM:HTn” x-cantillationLevel=”1.1.2”
”strong=”d/776|�������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1869|���������
x-morph=”OSHM:HVqp3fs” ”strong=”7272|���/������ x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”1.1.0” ”strong=”b|��/���� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”1961|��������� x-morph=”OSHM:HVqi3fs” ”strong=”l/5159|��������/��
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x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.0.0” strong=”c/l/1121|��/������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc/Sp2ms” x-cantillationLevel=”1.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”5769” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”4390|���������
x-morph=”OSHM:HVpp2ms” x-cantillationLevel=”0.1” strong=”310|��������
a” x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0”� 10 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.2.1” ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”2421|�������� x-morph=”OSHM:HVhp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0.0” � ”strong=”853|��/�����
x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”1.2.0” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”1696|�������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”1.2” ”strong=”2088|���� x-morph=”OSHM:HPdxms”
”strong=”705|������������ x-morph=”OSHM:HAcbpa” ”strong=”c/2568|�������/��
x-morph=”OSHM:HC/Acfsa” x-cantillationLevel=”1.1.1.0” ”strong=”8141|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.1” strong=”m/227|���/���
b” x-morph=”OSHM:HR/D” x-cantillationLevel=”1.1.0.1” ”strong=”1696|��������
x-morph=”OSHM:HVpp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”834|������ a”
x-morph=”OSHM:HTr”��������|strong=”1980” x-morph=”OSHM:HVqp3ms”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”b/4057|����������/��� b” x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.1.0” ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”595|�������� x-morph=”OSHM:HPp1cs” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”��������|strong=”2568” x-morph=”OSHM:HAcfsa”
”strong=”c/8084|�����������/�� x-morph=”OSHM:HC/Acbpa” x-cantillationLevel=”0.0”
”strong=”8141|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
11 ”strong=”5750|����/������ x-morph=”OSHM:HD/Sp1cs” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2.0” ”strong=”2389|������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1.2” strong=”k/834|�������/����
d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”1.1.1” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”7971|�������� x-morph=”OSHM:HVqc”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”4872|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”k/3581|�/�����/��� b” x-morph=”OSHM:HR/Ncmsc/Sp1cs” strong=”227|����
a” x-morph=”OSHM:HD” x-cantillationLevel=”1.0” strong=”c/k/3581|�/�����/��/��
b” x-morph=”OSHM:HC/R/Ncmsc/Sp1cs” ”strong=”6258|������� x-morph=”OSHM:HD”
x-cantillationLevel=”1” ”strong=”l/4421|�����������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”c/l/3318|�����/��/�� x-morph=”OSHM:HC/R/Vqc”
”strong=”c/l/935|�����/��/�� x-morph=”OSHM:HC/R/Vqc” x-cantillationLevel=”0”�
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12 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.1”
”strong=”5414|�/����� x-morph=”OSHM:HVqv2ms/Sh”��/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/���|strong=”d/2022” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.1”
strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”1696”
x-morph=”OSHM:HVpp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”859|������� a”
x-morph=”OSHM:HPp2ms”������������|strong=”8085” x-morph=”OSHM:HVqp2ms”
”strong=”b/3117|������/�� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0.2.1.0” strong=”3588|�����
a” x-morph=”OSHM:HC”����������|strong=”6062” x-morph=”OSHM:HNcmpa”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.2.1” strong=”c/5892|�������/��
b” x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”0.2.0” strong=”1419|����������
a” x-morph=”OSHM:HAafpa” ”strong=”1219|���������� x-morph=”OSHM:HAafpa”
x-cantillationLevel=”0.2” ”strong=”194|������� x-morph=”OSHM:HD” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”854|��/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”c/3423|�/��������������/�� x-
morph=”OSHM:HC/Vhq1cs/Sp3mp” x-cantillationLevel=”0.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”0.0” ”strong=”1696|��������
x-morph=”OSHM:HVpp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 13 ”strong=”c/1288|���/���������/��� x-
morph=”OSHM:HC/Vpw3ms/Sp3ms” x-cantillationLevel=”1.0” ”strong=”3091|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/5414|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”2275
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”l/3612|������/��
x-morph=”OSHM:HR/Np” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������|strong=”3312”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/5159|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0”� 14 strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”3651 c” x-morph=”OSHM:HTm”
”strong=”1961|�������� x-morph=”OSHM:HVqp3fs”����������|strong=”2275
a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0” ”strong=”l/3612|������/��
x-morph=”OSHM:HR/Np” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������|strong=”3312”
x-morph=”OSHM:HNp” ”strong=”d/7074|����������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”1.1.0” ”strong=”l/5159|��������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”1.0”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1” ”strong=”3282|������
x-morph=”OSHM:HC” x-cantillationLevel=”0.2.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”4390|������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0.2” strong=”310|�������� a” x-morph=”OSHM:HR”
x-cantillationLevel=”0.1” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”430|�������� x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
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15 ”strong=”c/8034|�����/�� x-morph=”OSHM:HC/Ncmsc” strong=”2275|���������
a” x-morph=”OSHM:HNp” ”strong=”l/6440|�������/�� x-morph=”OSHM:HR/Ncbpa”
x-cantillationLevel=”1.1.0” ”+strong=”7153|�������� x-morph=”OSHM:HNp”
”strong=”7153|��������� x-morph=”OSHM:HAcfsa” x-cantillationLevel=”1.1”
”strong=”d/120|������/�� x-morph=”OSHM:HTd/Ncmsa” strong=”d/1419|��������/��
a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0.0” ”strong=”b/6062|���������/���
x-morph=”OSHM:HRd/Ngmpa” x-cantillationLevel=”1.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1” ”strong=”c/d/776|������/��/��
x-morph=”OSHM:HC/Td/Ncbsa” ”strong=”8252|��������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”0.0” ”strong=”m/4421|�����������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0”� �15 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”d/1486|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.1” ”strong=”l/4294|�������/�� x-morph=”OSHM:HR/Ncmsc”

x-cantillationLevel=”1.0.0” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/4940|�/�������������/�� x-morph=”OSHM:HR/Ncfpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”1366”
x-morph=”OSHM:HNcmsc” ”strong=”123|������� x-morph=”OSHM:HNp”
strong=”4057|�������� b” x-morph=”OSHM:HNcmsc”�����|strong=”6790”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”5045|�/��������
x-morph=”OSHM:HNcmsa/Sd” x-cantillationLevel=”0.0” strong=”m/7097|������/��
a” x-morph=”OSHM:HR/Ncbsc” ”strong=”8486|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 2 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.0”
”strong=”1366|�������� x-morph=”OSHM:HNcmsc” ”strong=”5045|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” strong=”m/7097|������/��
a” x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”1.0” ”strong=”3220|����
x-morph=”OSHM:HNcmsc” ”strong=”d/4417|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”4480|��� a” x-morph=”OSHM:HR”��������/���|strong=”d/3956”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”d/6437|�������/��
x-morph=”OSHM:HTd/Vqrmsa” ”strong=”5045|�/�������� x-morph=”OSHM:HNcmsa/Sd”
x-cantillationLevel=”0”� 3 ”strong=”c/3318|�����/��� x-morph=”OSHM:HC/Vqp3ms”
x-cantillationLevel=”1.1.0.1” ”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”m/5045”
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1.0.0” ”+strong=”l/4610|��������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”4610|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” strong=”c/5674|������/�� a” x-morph=”OSHM:HC/Vqp3ms”
”strong=”6790|�/����� x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”1.1”
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”strong=”8646|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”1|������ x-morph=”OSHM:HNcmsc” ”strong=”85|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/1|������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”5152|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5647|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
”strong=”312|��������� x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
3 ”strong=”c/3947|������/��� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”����/������|strong=”1” x-morph=”OSHM:HNcmsc/Sp2mp”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”85” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”m/5676|������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/5104|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vhw1cs”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�������|strong=”776”
x-morph=”OSHM:HNcbsc” strong=”3667|��������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”c/7235|���/� a” x-morph=”OSHM:HC/Vhw1cs”
x-wType=”x-ketiv” 35 ”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”2233”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/5414|������/���
x-morph=”OSHM:HC/Vqw1cs”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”3327”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 4 ”strong=”c/5414|�������/��
x-morph=”OSHM:HC/Vqw1cs” ”strong=”l/3327|��������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” ”strong=”853|���� x-morph=”OSHM:HTo”���������|strong=”3290”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��������|strong=”6215” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5414|�������/�� x-morph=”OSHM:HC/Vqw1cs”
”strong=”l/6215|�������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”2022” x-morph=”OSHM:HNcmsc”
strong=”8165|�������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”l/3423|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”853|��/�����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/3290|��������/��

35+ strong=”c/7235|���������/�����/� a” x-morph=”OSHM:HC/Vhw1cs” x-
cantillationLevel=”0.1.0”
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x-morph=”OSHM:HC/Np” strong=”c/1121|�/������/�� a” x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3381|�������� x-morph=”OSHM:HVqp3cp”
”strong=”4714|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
5 ”strong=”c/7971|���������/�� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”4872” x-morph=”OSHM:HNp”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”c/5062|�������/��
x-morph=”OSHM:HC/Vqw1cs” ”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”4714”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” strong=”6213|���������� a” x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.0” ”strong=”b/7130|��/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1” strong=”c/310|������/�� a” x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.0” ”strong=”3318|���������� x-morph=”OSHM:HVhp1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0”�
6 ”strong=”c/3318|��������/��� x-morph=”OSHM:HC/Vhw1cs” ”strong=”853|���
x-morph=”OSHM:HTo”����/����������|strong=”1” x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”1.1.0” ”strong=”m/4714|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw2mp”
x-cantillationLevel=”1.0” ”strong=”d/3220|�/�������/�� x-morph=”OSHM:HTd/Ncmsa/Sd”
x-cantillationLevel=”1” ”strong=”c/7291|������������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”4713|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0.0”
strong=”310|�������� a” x-morph=”OSHM:HR” ”strong=”1|����/��������
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.0.0” ”strong=”b/7393|������/���
x-morph=”OSHM:HR/Ncmsa” strong=”c/b/6571|����������/��/�� b”
x-morph=”OSHM:HC/R/Ncmpa” x-cantillationLevel=”0.0” ”strong=”3220|���
x-morph=”OSHM:HNcmsc”������|strong=”5488” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 7 ”strong=”c/6817|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.2” strong=”c/7760|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”3990|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.1.1”
”strong=”996|����/������� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.2.1.0”
� ”strong=”c/996|�����/�� x-morph=”OSHM:HC/R” ”strong=”d/4713|����������/��
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.2.1” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vhw3ms” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�����/���|strong=”d/3220” x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0” ”strong=”c/3680|���/��������/��
x-morph=”OSHM:HC/Vpw3ms/Sp3ms” x-cantillationLevel=”1.2” ”strong=”c/7200|�������������/��
x-morph=”OSHM:HC/Vqw3fp” x-cantillationLevel=”1.1.0” strong=”5869|����/������
a” x-morph=”OSHM:HNcbdc/Sp2mp” x-cantillationLevel=”1.1” ”strong=”853|����
x-morph=”OSHM:HTo” strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”6213
a” x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” ”strong=”b/4714|����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”c/3427|����������/��
x-morph=”OSHM:HC/Vqw2mp” strong=”b/4057|����������/�� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
strong=”7227|�������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
8 ”strong=”c/935|�/���/� x-morph=”OSHM:HC/Vhw1cs/Sh” x-wType=”x-
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ketiv” 36 ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1.1.2”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”776” x-morph=”OSHM:HNcbsc”
”strong=”d/567|��������/�� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1.1”
”strong=”d/3427|���������/�� x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.1.0”
”strong=”b/5676|������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”d/3383|����������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.1” strong=”c/3898|�������������/��
a” x-morph=”OSHM:HC/VNw3mp” x-cantillationLevel=”1.0” ”strong=”854|����/�����
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1” ”strong=”c/5414|�������/��
x-morph=”OSHM:HC/Vqw1cs” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp”
”strong=”b/3027|����/����/��� x-morph=”OSHM:HR/Ncbsc/Sp2mp” x-
cantillationLevel=”0.1.0” ”strong=”c/3423|������������/�� x-morph=”OSHM:HC/Vqw2mp”
”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”776” x-
morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”c/8045|�/�����������/��
x-morph=”OSHM:HC/Vhw1cs/Sp3mp” x-cantillationLevel=”0.0” ”strong=”m/6440|����/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2mp” x-cantillationLevel=”0”� 9 strong=”c/6965|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”1111|������� x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”6834”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”c/3898|����������/�� a” x-morph=”OSHM:HC/VNw3ms”
x-cantillationLevel=”1.0” ”strong=”b/3478|�����������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0.1” ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0.0” strong=”l/1109|��������/�� a” x-morph=”OSHM:HR/Np”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”1160”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/7043|�������/��
x-morph=”OSHM:HR/Vpc” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”0”� 10 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”14|��������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0”
”strong=”l/8085|��������/�� x-morph=”OSHM:HR/Vqc” strong=”l/1109|��������/��
a” x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”c/1288|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”1288|��������� x-morph=”OSHM:HVpa”
x-cantillationLevel=”0.1.0” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”c/5337|�������/�� x-morph=”OSHM:HC/Vhw1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.0”
”strong=”m/3027|��/�����/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”0”�
11 strong=”c/5674|�����������/�� a” x-morph=”OSHM:HC/Vqw2mp”
”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/3383”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.2.0” ”strong=”c/935|���������/��
x-morph=”OSHM:HC/Vqw2mp” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”3405”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”c/3898|������������/��
a” x-morph=”OSHM:HC/VNw3mp” ”strong=”b|����/�� x-morph=”OSHM:HR/Sp2mp”
”strong=”1167|��������� x-morph=”OSHM:HNcmpc”����������|strong=”3405”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.1” ”strong=”d/567|��������/���
36+ ”strong=”c/935|�������/���/���/� x-morph=”OSHM:HC/Vhw1cs”
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x-morph=”OSHM:HTd/Ngmsa” ”strong=”c/d/6522|����������/��/��
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x-morph=”OSHM:HC/Td/Ngmsa” x-cantillationLevel=”1.1” ”strong=”d/2340|�������/���
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.0” ”strong=”c/d/2983|���������/��/��
x-morph=”OSHM:HC/Td/Ngmsa” x-cantillationLevel=”1” ”strong=”c/5414|�������/��
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”strong=”l/6440|����/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp2mp” x-
cantillationLevel=”1.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/6880”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2” ”strong=”c/1644|����������/��
x-morph=”OSHM:HC/Vpw3fs” ”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3mp”
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� strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3808|����
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x-cantillationLevel=”1.1” ”strong=”c/3427|����������/�� x-morph=”OSHM:HC/Vqw2mp”
x-cantillationLevel=”1.0” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1” ”strong=”3754|���������� x-morph=”OSHM:HNcbpa”
”strong=”c/2132|��������/�� x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3808|���� x-
morph=”OSHM:HTn”������������|strong=”5193” x-morph=”OSHM:HVqp2mp”
x-cantillationLevel=”0.1” strong=”859|������� d” x-morph=”OSHM:HPp2mp”
x-cantillationLevel=”0.0” ”strong=”398|��������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”0”� 14 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D”
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x-morph=”OSHM:HC/R/Ncfsa” x-cantillationLevel=”1” ”strong=”c/5493|���������/��
x-morph=”OSHM:HC/Vhv2mp” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”430”



180 CONTENTS

x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.1” strong=”834|�������
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x-morph=”OSHM:HR/Vqc” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
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”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”4310” x-morph=”OSHM:HTi”
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”strong=”b/5676|���/� x-morph=”OSHM:HR/Ncmsc” x-wType=”x-ketiv”
37 38 Adaptations to a Qere which L and BHS, by their design, do not in-
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x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”859|������� d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”1.0”
”strong=”3427|���������� x-morph=”OSHM:HVqrmpa” ”strong=”b/776|�/�������/���
x-morph=”OSHM:HR/Ncbsc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/595|��������/��
x-morph=”OSHM:HC/Pp1cs” strong=”c/1004|�/������/�� b” x-morph=”OSHM:HC/Ncmsc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”5647|�������� x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 16 strong=”c/6030|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.0” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2” ”strong=”2486|�/�������� x-morph=”OSHM:HTj/Sh”
”strong=”l|���/���� x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.1”
strong=”m/5800|������/�� a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”l/5647|������/�� x-morph=”OSHM:HR/Vqc”

37+ ”strong=”m/5676|������/�����/� x-morph=”OSHM:HR/Ncmsc”
38a



CONTENTS 181

x-cantillationLevel=”0.0” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
”strong=”312|��������� x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
17 strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”430|���/��������
x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”1.1” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” ”strong=”d/5927|���������/�� x-morph=”OSHM:HTd/Vhrmsa”
”strong=”853|���/����� x-morph=”OSHM:HTo/Sp1cp” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”���/����������|strong=”1” x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”1.0.0” ”strong=”m/776|������/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”4714|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”m/1004|������/�� b” x-morph=”OSHM:HR/Ncmsc” ”strong=”5650|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
strong=”l/5869|���/�������/�� a” x-morph=”OSHM:HR/Ncbdc/Sp1cp”
x-cantillationLevel=”0.3.1” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/226”
x-morph=”OSHM:HTd/Ncbpa” strong=”d/1419|����������/�� a” x-morph=”OSHM:HTd/Aafpa”
x-cantillationLevel=”0.3.0” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”0.3” ”strong=”c/8104|���/�����������/��� x-morph=”OSHM:HC/Vqw3ms/Sp1cp”
x-cantillationLevel=”0.2.1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”���������/���|strong=”d/1870”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.2.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”1980|���������� x-morph=”OSHM:HVqp1cp”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.2”
”strong=”c/b/3605|����/��/�� x-morph=”OSHM:HC/R/Ncmsc” x-cantillationLevel=”0.1.0”
strong=”d/5971|��������/��� a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”5674|����������
a” x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0.0” ”strong=”b/7130|�/��������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-cantillationLevel=”0”� 18 ”strong=”c/1644|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��������/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������/���|strong=”d/567”
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.0.0” ”strong=”3427|�������
x-morph=”OSHM:HVqrmsa” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.0” ”strong=”m/6440|���/�������/�� x-morph=”OSHM:HR/Ncbpc/Sp1cp”
x-cantillationLevel=”1” ”strong=”1571|���� x-morph=”OSHM:HTa”������������|strong=”587”
x-morph=”OSHM:HPp1cp” x-cantillationLevel=”0.1.0” ”strong=”5647|��������
x-morph=”OSHM:HVqi1cp” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”3588|���� a” x-
morph=”OSHM:HC”������|strong=”1931” x-morph=”OSHM:HPp3ms” x-
cantillationLevel=”0.0” ”strong=”430|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”0”� � 19 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3091|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”����/���|strong=”d/5971 a” x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3201|���������� x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”1.1.0” ”strong=”l/5647|������/�� x-morph=”OSHM:HR/Vqc”



182 CONTENTS

”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”430”
x-morph=”OSHM:HNcmpa” ”strong=”6918|���������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1” ”strong=”410|���� x-morph=”OSHM:HNcmsa”���������|strong=”7072”
x-morph=”OSHM:HAamsa” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0.1” ”strong=”3808|���� x-morph=”OSHM:HTn”���������|strong=”5375”
x-morph=”OSHM:HVqi3ms” ”strong=”l/6588|����/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp2mp”
x-cantillationLevel=”0.0” strong=”c/l/2403|����/����������/��/�� b”
x-morph=”OSHM:HC/R/Ncfpc/Sp2mp” x-cantillationLevel=”0”� 20 strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”5800|����������� a” x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/5647|�����������/��
x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.0” ”strong=”430|��������
x-morph=”OSHM:HNcmpc” ”strong=”5236|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/7725|�����/�� x-morph=”OSHM:HC/Vqq3ms”
strong=”c/7489|������/�� a” x-morph=”OSHM:HC/Vhq3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.1.0” ”strong=”c/3615|�������/��
x-morph=”OSHM:HC/Vpq3ms” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”0.1” strong=”310|�������� a” x-morph=”OSHM:HR”
x-cantillationLevel=”0.0” strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”3190”
x-morph=”OSHM:HVhp3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0”� 21 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”3091”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”3808|���� x-morph=”OSHM:HTn”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”5647|�������� x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0”� 22 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3091|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”����/���|strong=”d/5971 a” x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1” ”strong=”5707|�������
x-morph=”OSHM:HNcmpa” strong=”859|������� d” x-morph=”OSHM:HPp2mp”
x-cantillationLevel=”1.1.0” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”859
d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”1.0.0.0” ”strong=”977|������������
x-morph=”OSHM:HVqp2mp” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l/5647|������/��
x-morph=”OSHM:HR/Vqc” ”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”5707|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 23 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.1” ”strong=”5493|��������� x-morph=”OSHM:HVhv2mp”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”430”



CONTENTS 183

x-morph=”OSHM:HNcmpc” ”strong=”d/5236|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”b/7130|����/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp2mp”
x-cantillationLevel=”1” ”strong=”c/5186|�������/�� x-morph=”OSHM:HC/Vhv2mp”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����/�������|strong=”3824”
x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”0.1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp” x-
cantillationLevel=”0.0” ”strong=”430|�������� x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
24 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” strong=”d/5971|����/��
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”������������|strong=”3091” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”0.1.0” ”strong=”5647|�������� x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0.1” strong=”c/b/6963|��/�����/��/�� a” x-morph=”OSHM:HC/R/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”8085|��������� x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0”� 25 ”strong=”c/3772|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3091|����������� x-morph=”OSHM:HNp” ”strong=”1285|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.0” strong=”l/5971|����/��
a” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”1” strong=”c/7760|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0.0”
”strong=”2706|���� x-morph=”OSHM:HNcmsa” ”strong=”c/4941|����������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0” ”strong=”b/7927|�������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 26 ”strong=”c/3789|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3091|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1.1” strong=”b/5612|������/��� a” x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.0” ”strong=”8451|�������� x-morph=”OSHM:HNcfsc”
”strong=”430|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.3.0”
”strong=”68|������ x-morph=”OSHM:HNcfsa” strong=”1419|����������
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.3” strong=”c/6965|��/��������/��
b” x-morph=”OSHM:HC/Vhw3ms/Sp3fs” ”strong=”8033|������ x-morph=”OSHM:HD”
x-cantillationLevel=”0.2” ”strong=”8478|������� x-morph=”OSHM:HR”
x-cantillationLevel=”0.1.0” ”strong=”d/427|�������/��� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”0.0” ”strong=”b/4720|����������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 27 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”3091|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” ”strong=”413|��� x-
morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1” ”strong=”2009|�������



184 CONTENTS

x-morph=”OSHM:HTm” ”strong=”d/68|������/�� x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1.2.0”
”strong=”1961|��������� x-morph=”OSHM:HVqi3fs”���/�����|strong=”b”
x-morph=”OSHM:HR/Sp1cp” strong=”l/5713|������/�� a” x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1.2” strong=”3588|����� a” x-morph=”OSHM:HC”������|strong=”1931”
x-morph=”OSHM:HPp3fs” ”strong=”8085|��������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.1.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-
cantillationLevel=”1.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”561”
x-morph=”OSHM:HNcmpc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1696|�������� x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.0”
strong=”5973|���/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1”
”strong=”c/1961|��������/�� x-morph=”OSHM:HC/Vqq3fs” ”strong=”b|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.1.0” strong=”l/5713|������/��
a” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1” ”strong=”6435|�����
x-morph=”OSHM:HC”�/�������������|strong=”3584” x-morph=”OSHM:HVpi2mp/Sn”
x-cantillationLevel=”0.0” ”strong=”b/430|����/������/��� x-morph=”OSHM:HR/Ncmpc/Sp2mp”
x-cantillationLevel=”0”� 28 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vpw3ms”
”strong=”3091|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971 a”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”l/5159|��/��������/��
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”0”� � 29 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1” strong=”310|���������
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.1.0” ”strong=”d/1697|����������/��
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1.1” ”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0.0” ”strong=”3091|����������� x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������|strong=”5126”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”5650|������
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������|strong=”3967”
x-morph=”OSHM:HAcbsa” ”strong=”c/6235|�������/�� x-morph=”OSHM:HC/Acfsa”
x-cantillationLevel=”0.0” ”strong=”8141|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”� 30 ”strong=”c/6912|������������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”853|���/��� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”b/1366|�������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”5159|��/��������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1” strong=”b/8556|�������/���
b” x-morph=”OSHM:HR/Np”�������|strong=”8556 b” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”b/2022|���/��� x-morph=”OSHM:HR/Ncmsc”�����������|strong=”669”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”m/6828|��������/��
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”0.0” ”strong=”l/2022|���/��
x-morph=”OSHM:HR/Ncmsc”���������|strong=”1608” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 31 ”strong=”c/5647|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”



CONTENTS 185

”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” ”strong=”3117|������ x-morph=”OSHM:HNcmpc”
”strong=”3091|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/3605|����/�� x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”0.2.1.0”
� ”strong=”3117|������ x-morph=”OSHM:HNcmpc” ”strong=”d/2205|����������/��
x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”0.2.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”748|����������� x-morph=”OSHM:HVhp3cp”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.2.0”
strong=”310|�������� a” x-morph=”OSHM:HR” ”strong=”3091|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” ”strong=”3045|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.1.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-
cantillationLevel=”0.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������|strong=”4639”
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”l/3478|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
32 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������|strong=”6106”
x-morph=”OSHM:HNcfpc” ”strong=”3130|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”5927”
x-morph=”OSHM:HVhp3cp” strong=”1121|����� a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” � ”strong=”m/4714|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.0” ”strong=”6912|�������� x-morph=”OSHM:HVqp3cp”
”strong=”b/7927|�������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
strong=”b/2513|��������/��� a” x-morph=”OSHM:HR/Ncfsc” strong=”d/7704|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.2” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7069|������ x-morph=”OSHM:HVqp3ms”
”strong=”3290|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.1”
”strong=”m/854|����/�� x-morph=”OSHM:HR/R” x-cantillationLevel=”1.0.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”��������|strong=”2544”
x-morph=”OSHM:HNp” ”strong=”1|������ x-morph=”OSHM:HNcmsc”��������|strong=”7927”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/3967|������/���
x-morph=”OSHM:HR/Acbsa” ”strong=”7192|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/1961|����������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”l/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc”��������|strong=”3130”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/5159|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0”� 33 ”strong=”c/499|����������/��
x-morph=”OSHM:HC/Np” strong=”1121|����� a” x-morph=”OSHM:HNcmsc”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”4191|���� x-
morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” ”strong=”c/6912|������������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”b/1389|��������/��� x-morph=”OSHM:HR/Ncfsc”
x-cantillationLevel=”0.1.0” ”strong=”6372|����������� x-morph=”OSHM:HNp”
strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”5414|������



186 CONTENTS

x-morph=”OSHM:HVNp3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”669|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�


